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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. General Part-I Examination, 2019

ECONOMICS
PAPER-ECOG-I
Time Allotted: 3 Hours Full Marks: 100
The figuresin the margin indicate full marks. e ST 547 F 5 T [ T 1
Candidates should answer in their own words AT TS G U ST AT Tl
and adhere to the word limit as practicable. ey P!
1. Answer any ten questions from the following: 2x10=20
foaferie @-I! ™11 eltis Tea wies

(d) What isindifference map?
f=coms Seibe F@ice f @i ¢

(b) Define Giffen Good.
RIS R IE R G

(c) What isthe slope of the demand curve for normal Good?
HIRE T (0 BIfRwAT (I BIeT (e 203 9

(d) What is substitution effect?
RS 2SR FIF A 9

(e) Define Marginal Product.
2/ife TR e 7S |

(f) What do you mean by long run in production theory?
Teofivie Org RIS J6100 1 @I 2

(g) Statethe relation between Average Cost (AC) and Margina Cost (MC).
9 3 € &AfeF R M 0 TS FC |

(h) Explain the concept of elasticity of supply.
N FEfegmor Limaifs i wel

(i) Define Opportunity Cost.
! I RSB WS |

(j) State any two characteristics of a monopoly market.
QLA AR @GR! 46 &RIZT e

(k) Distinguish between Real Wage and Money Wage.
el TG @ 2iFe TG Ty AL T

(1) What is derived demand?
Ty bifewl e 0T ¢

(m) What is quasi-rent?

2 et < 9
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Answer any five questions from the following:

fwfrie @-ceie #efe 2t Tea niss

State the assumptions behind the Law of Diminishing Marginal Utility. Establish
the consumer’s equilibrium based on this theory. From the consumer’'s
equilibrium derive the consumer’ s demand curve.

EANRPTIE 2ifes TAIToR SRR SdiReief qe (Sre SR € (12 ORPIy
(TS oIS Bifewl @2l fdfae et

How do you derive an Income Consumption Curve? When will this curve be
backward bending?
W (oot @t fFi fefa vt T 9 @ @G T 2P6iex A 27 ©f 1 |

Define Price Elasticity of Demand. How do you measure the price elasticity at a
point on a straight line demand curve? State what will be the values of elasticities
at different points on the line.

it wefe EfoRsiTer el wie| 3t FREAERT biftn @E @-@e [ere
ifenia wiere FEferere el #fams a1 27 2 «3 @4t [ifen e o weor
fafen aefer Rac S s

Define the characteristics of an Isoquant. What do you mean by returns to scale?
Enumerate the different types of returns to scale and explain each of them.
AR @A IRER S S T Nig 2R S 0T 9 NaiE
2RI 2ATOTHIL &I THCH o] FCA |

Discuss about the shape of the Short Run Total Cost Curve. How can you derive
the Long Run Average Cost Curve from Short Run Average Cost Curves?

TP (M T @R WFfe Reawel I FoeRe o7 7 @ef @ @y
ST @4 eI ey <t 7

Derive the short run supply curve of afirm under perfect competition. Explain the
concept of “ Shut-Down Point” in this context.

5 eforfion AGE @Al FCR FoFEE @6F @ W0 F@ 93 epe
oA -0 [ Q=B i e

What do you mean by Price Discrimination? When is it possible? When is it
profitable? Isit desirable?

W TR To00 [ @I 9 @ T2 78 © T4 aAesw ¢ @b 315 9

Define economic rent. Show that rent can be a component in any factor income.
FARSF WISl FIF A0 ? (wAS (@, I GAMCAR S T e o+t iR < |
How is the equilibrium rate of interest determined with the Keynesian theory of
Liquidity Preference?

(PEAAR o7 72w Orga AR [Tl ey o 27 e = orave |

What is trade union? Can a trade union raise both the wage rate and level of
employment simultaneously? Give reasons for your answer.

&S Y e & @I 2 @i WY [ @9 A} TgdE 29 ¢ [WeieR Ak g
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